Q

(e}

c

- l l ° l
ITEM [PART NO. DESCRIPTION QTY. WEIGHT REVISIONS
1 |[MDWS201 | Microwave Dish Waveguide Angle 1 9.48 LBS REV. ZONE ﬁEZCLiE[S\zE MB;M 05'3?;/510
2 GUB-4456 1/2" X 4-5/8" X 6-1/2" GALV U-BOLT 1 0.57 LBS
3 MT-377-24 3/8" X 24" GALV THREADED ROD 1 0.75 LBS
4 GWF-03 3/8" GALV FLAT WASHER 2 0.01 LBS
5 GWL-03 3/8" GALV LOCK WASHER 4 0.03 LBS
6 GN-03 3/8" GALV HEX NUT 4 0.08 LBS
2'-0"[609.6]
© O O ©O
B. 3
@ )] C—— 1T _
g ﬁg
ety b A I LS s
NOTES: RS | riore D5 oegids S
1. ALL METRIC DIMENSIONS ARE IN BRACKETS. LoE sy | /1110 | A28 ASSEMBLY DRAVING
qo= w03 T e a3
REMOVE BURRS AND BREAK EDGES .005 A — WESTCHESTER, IL. 60154
DO NOT SCALE THIS PRINT 11.40 LBS JAIN D RIEWWEEES

o)
)

c




